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oF @9le g3 el E H] i
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3 ¥ | N IN=1lkg - m/s’
(Newton)
-3y |4 A~ | Pa [1Pa=IN/m?
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oz, o E3 J 1J=IN -m
g (Joule)
dE, FE, (o el w 1W=1J/8
59, 3y (Watt)
Hsh nrg | F = C 1C=1A-S
(Coulomb)
A9, Al | & E A 1V=1J/C
qsh, 1149 (Volt)
A 8-, o E F IF=1C/V
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£ off A A F ¢ H| m’ |kmimcm’ mm? lha=10'm?

la=10'm?
Al (¥ o 4+ A V A A F v EHl m [md(2),em*(=me)mm’ |18 =1dm’
ZF 1A . ot % s s, d(¥], h(A17}), min(#]

£ . m2y v "l B o %x| m/s |km/hm/s, cm/s

7t % 2| a 7 B o A F 2| m/s? |m/s? 1 Gal=10"2m/s?

2 & E o & 9 & W) x| rad/s |rad/s

j‘]" #4055 f |4 2| Hz |MHzkHz Hz 1s7'=1Hz
g (AAE=-Ade| n 3] wj *#| min™' |[min !, h™! 1 rpm=1min~!
A 1 rph=60rpm
A F| m A 2 2 # kg [t kg g mg 1t=10%kg
)| = p A2 3P M A F|kg/cm® [t/m? kg/m?,
o] & g/em*(=g/ml)
o 1] FPW |+ & N MN, KN, N, mN 1 tf=9.80665kN
1 kgf=9.80665N
1 gf=9,80665mN
1dyn=10"°N

2 d F F v (FAUAAAFE| N/m® [kN/m® N/m? 1 tf/m? =1gf/em®

=9.80665kN /m?
M EAdEl M |%F ® 9 B[ N-m |MN -mkN-mN-m |ltf-m=980665kN m
mN - m 1kgf-m=9.80665N -m
lkgf-cm=98.0665mN -m
Ris ZF Q AANFo e 2] m*/s [m®/ min, € /s
£ls | P s} Ea z Pa MPa, kPa latm=101.325kPa
Pa=N/m? ImmHq=133.322Pa
4 - 244 oE (w9 AF v EH| N/m? |GN/m? MN/m? lkgf / cm®=98.0665kN / m?
T kN /m?% N/m? 1tf/ m*=9.80665kN / m?
ot A Z| Pa [MPa, kPa, Pa 1gf / em?=98.0665N / m®

AvrkFA S K |[wddAMFoEH| N/m® [kN/m’, N/m? lkgf/m’=
9.80664MN /m® MN /m®

¥ & A ¢ o |AFo AR m/N |m/MN, m/kN, mN | lem?/ kgf=
(102/9.80665)m2/ MN

AL ZAF] m AFAEERRE| em?/N [em?/N lem?/kgf=
1/9.80665¢cm?/ N

dr2irde) 1 |(MAFAEEH| o' |memt

& "1 oA F L AAFAEH| m |[md e’

& 4 A ] O [AFAEngel x| em’/s [mi/s, em?/d, em?/s lem?/min=(10"/60)
m?/s)
lem?/d=(10"%/8.64)
m®/s

F = A k Al g vl B W & em/s [m/s em/s

A x n B A2 & Z| Pa-s |Pa-s(=N-s/m? 1 P(3Fo}=)=1dyn

mPa-s(=mN-5/m?) -8/em?=0,IN-s /m?

* | = v A F v H v &2 m’/s |{m?/s,mm?/s ISt(~E2)
=lem?/s
=10"'m?/s
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E 4 & ¥ ¢ & o v ®H| N/m |[N/mmN/m 1gf / em=0.980665N / m
o 5] Al W z J TJ, GJ, MJ, KJ 1kgf-cm=98.0665mN -m
J=Nm, mdJ lcal=4.18605 J
d9 % es T |A l K T(K)=t(C)+273.16
A% 2 x|t A A = A2zl T t(t)=T(K)-27316
4 A g F AP g ] 7 Wl K' {Kie!
9 - 94 F Q 3 J TJ. GJ. MJ. kd. J. mJ
4 d = & K |dEcioge| AW/ (ink|W/(m-K)
9 E 7 3 g oW A4 H| J/K |I/K kI/K
A F 1 ot #) o} A |kA, A, mA, pA, nA
ZAAs-A7% Q |F 2| C kG, C, uC
A"y VoOE E|l V  |MV,kV,V,mV, pV
g4 71 A &| R - Q|G MO, kQ, Q, ma, p0
= 5 X c E o A A F 9) ¥ [mol/m’|mol/m? mol/ ¢ IN(7% ) =10’mol / m®
FE-9 2 o
+ cm m &(+h) H(R) ZH(E) in(") ft(") yd(e}=)
1l ecm= 1 0.01000 0.33000 0.03300 0.00550 0.39370 0.03280 -0.01093
lm= 100.000 1 33.0000 3.30000 0.55000 39.3707 3.28089 1.09363
1&= 3.03030 0.03030 1 0.10000 0.01666 1.19305 0.09942 0.03314
1 3= 30.3030 0.30303 10.0000 1 0.16666 11.9305 0.99421 0.33140
17t= 181.818 1.81818 60.0000 6.00000 1 71.5832 5.96527 0.04038
1lin= 2.53995 0.02539 0.83818 0.08381 0.01396 1 0.08333 0.02777
1ft= 30.4794 0.30479 10.0582 1.00582 0.16763 12.0000 1 0.33333
1 yd= 91.4383 0.91438 30.1746 3.01746 0.50291 36.0000 3.00000 1
H-10 ¥ ol
T+ X cm® m? in® ft2 3?2
lem?= |1 1074 0.15500 1.0764x1073 1.0890x107*
1m? = 10* 1 1.5500 % 10? 10.764 10.890
lin® = 6.4516 6.4516x10°¢ 1 6.9444x107° 7.0258 x107*
1ft> = 9.2903 x 10? 9.2903x 1072 1.4400 < 10? 1 1.0117
13 9.1827 x 10? 9.1827x107? 1.4233 %107 0.98842 1
E-11 %9 .43
T 2| dm’= € (L) mi=k¢ ft? gal(UK) gal(US) (/) 23
(<4 3=) (v} 29)
1dm®= |1 1073 35317x1072 | 0.21995 0.26419 5.5435x107% | 35937x1072
Im*= [10° 1 35.317 2.1955x10% | 2.6419% 107 |[5.5435 35.937
1t = |28.3153 2.8315x107% | 1 6.22789 7.4806 0.15696 1.0175
1 gallUK)= | 4.54609 4.54609x 1074 | 0.16055 1 1.20103 2.5201x1072 | 0.16337
1 gal(US)= | 3.78541 3.78541x107% | 0.13368 0.83260 1 2.0984x 1072 | 0.13604
106 9% $3% - 19934 9A




14 = | 1.8039x10% | 0.18039 6.3707 39.676 47.656 1 6.4827
183 = |2782 2.7826x 1072 | 0.98273 6.1203 7.3514 0.15425 1
F-12 A =
T * kg Ib(9}3= ton(°d¥) [sh-tn(uv]E) R = oz (&)
lkg= |1 2.20462 9.84204 1074 11.10231 x 1073 [ 0.26667 1.6666 35.2740
1Ib = [0.453592 1 4.464x107* [5.1x107* 0.12095 0.75598 16
1ton = [1.01605x10° [2.240x10° 1 1.12 2.7095%10°  [1.6934x10° |3.584x10*
1sh-th = |9.07185x10? |2.x10° 0.85286 1 2.41908x10° [1.51197%x10° [3.2x10*
18#= 375 8.2673 3.6902x107% {4.13¢4x107% |1 6.25 132.2768
12 = |06 1.3227 0.05904 1072 [6.6144x10~* [0.16 1 21.1643
loz = ]0.0283495 0.0625 0.027895x 1073 {3.1252x 107% [0.00756 0.047244 1 B
¥-13 ¥
T . N dyn kgf Ibf
IN = 1 1x10° 1.019716 x 10! 0.2248089
1dyn = 1x10°° 1 1.019716 x 10~ 2.248089x 1076
1 kgf = 9.80665 9.80665 x 10° 1 2.204622
11bf = 4.448222 4.448222 % 10° 0.45359243 1
E-14 29 AY
T 2| N/m kegf/m Ibf/ft
IN/m= |1 0.1019716 | 6.852177x 1072 | | 1 Ibf/ft = | 14.59390 | 1488164 |1
lkgf/m= | 980665 |1 0.6719690
E-15 o4H -89
(1) & 9
T | Pa=N/m’ bar kgf/ cm? atm mmH20 mmHg 1bf/in®
1Pa= 1 1075 1019716 x 1075 [9.869233x 1076 |0.1019716 7.500617 % 1073( 1.450377x 10
lbar= 10° 1 1.019716 0.9869233 1.019716x 10" |750.0617 14.50377
lkgf / cm?= |9.80665x10* |0.980665 1 0.9678411 10t 735.5593 14.22334
latm= [1.01325x10° |1.01325 1.033227 1 1.03327x10* | 760 14.69595
ImmH20=|9.80665 9.80665x107° (1074 9.678411x107° | 1 7.3555932 % 1072( 1.422334x107°
ImmHg= |133.3224 1333224 x 107 { 1.359510x 1073 | 1/740 13.59510 1 1.933678x 1072
11bf/in’= |6894.757 6.894757x 1072 | 7.030695Xx 1072 | 6.804596X 102 | 703.0695 51.71493 1
2y & 3
+ 2 Pa=N/m? N /mm? kgf/ mm? kgf/cm? 1bf/ ft?
1Pa= 1 1x10°¢ 1.0197 %1077 1.0197x10"° 0.02089
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1 N/ mm?

= 1x10° 1 0.101972 10.1972 2.089x 104
1 kgf / mm? = 0.980665 x 107 9.80665 1 1x10? 2.048 x 10°
1 kgf/cm? = 0.980665 x 10° 0.0980665 1x107? 1 2048 x10°
1 1bf/ft? = 47.88 4,788 %107° 4.882x10°% 0.0004882 1
E-16 ¥ =
- * g/cm*=t/m’ kg/m? 1b/in? 1b/ ft?
lg/cm® = 1 1000 3.613x10° 62.428
lkg/m? = 1073 1 3.613x10°° 6.2428 x 1072
11b/in® = 27.680 27680 1 1728
11b/ft? = 1.6018x 1072 16.01846 5.787x107* 1
E-17 9895
7 2| kN/m' | gf/emi=tf/m' | o tf/fe) 1bf / ft? 1bf/in?
1kN/m? = 1 0.101972 2.84185x107° 6.3659 3.684x107*
lgf/cm? = 9.80665 1 2.7869x 1072 62.428 3.613x107?
13 tf/ft? = | 3.5188x10° 35.882 1 2240.4 1.2963
1 1bf/ft? = 0.157087 1.6018 x 10°¢ 0.45x107% 1 5.787x107¢
1 1bf/in® = 2.7145x 10? 27.680 0.7714 1728 1
E-18 & &
=+ B m/s km/h kn(Xx E) ft/s mile/h
lm/s = 1 3.6 1.944 3.281 2.237
1km/h = 0.2778 1 0.5400 09113 0.6214
1kn = 0.5144 1.852 1 1.688 1.151
1ft/s = 0.3048 1.097 0.5925 1 0.6818
1 mile/h = 0.4470 1.609 0.8690 1.467 1
E-19 %

T * m'/s /s £ /min m’/ min m®/h ft’/s
Im*/s = 1 1x10°# 6x10* 60 3600 35.31
10/s= 1x10°° 1 60 0.06 3.600 0.03531

1 ¢/min= | 1.66666x107" 0.01666 1 1x10-3 6x107? 0.00059

I m*/min = | 1.66666x10~* 1.66666 x 10 1x10° 1 60 0.5885
1m*/h = 277777 %1074 277777 %107} 1.66666 x 10 1.66666 x 102 1 0.00981
1ft*/s = 2.832x107° 2.832x10 1.69833x 10° 1.69833 101.9 1
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H-20 ©vA - Ak
¥ R J=N-m kW - h kgf - m kcal
1J = 1 277778 %1077 1.01972x 107! 2.388889x 1074
1kW: h = 3.600x 10° 1 3.67098 x 10P 8.6000 x 107
lkgf-m = 9.80665 2.72407 x107* 1 2.34270x 1073
1 keal = 4.18605x 10° 1.16279x 1073 4.26858 x 107 1
¥-21 59 -%4
+ N w kgf - m/s PS kcal/h
1W = 1 0.1019716 1.359622x107* 8.6000x107!
lkgf-m/s = 9.80665 1 1.33333x10°? 8.43371
1PS = 735.4988 75 1 6.32529x 107
1 keal/h = 1.16279 1.18572x 10! 1.58095x10~* 1
HE-22 A=(HAAT)
7 . Pa-s kgf - s/ m? 1bf - s/ ft? 1b/(ft - s)
lpa:-s= 1 0.1019716 0.2088543 0.6719689
lkgf-s/m?= 9.80665 1 2.048161 6.589764
11bf-s/ft° = 4.788026 0.4882428 1 3.217405
11b(ft - s) = 1.488164 0.1517505 0.3108095 1
E-23 FHE(FHRASF)

h 7 m?/s m’/h ft?/s ft?/h
Im?/s = 1 3600 10.76391 3.875008 x 10*
1m?’/h = 1/3600 1 2.989975x 1077 10.76391
1ft*/s = 9.290304 x 1072 334.4509 1 3600
1ft’°/h = 2.58064 x 1077 9.290304 x 1072 1/3600 1

H-24 & X
e 1 Ad2x (9 H|uFA C °F
¢ (Celcius) —273.15 0 100 X°C =(9x/5+32)°F
°F (Fahrenheit) 32 216 X°F =5(x—32)/9°C
K(Kelvin) 0 27315 | 373.15 XK =(x—273.15)°C | =(9(x-273.15/5-32) °F
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E-25 d3x=&

T S W/ (m-K) keal/(h'm - C) cal/(cm-s-C) Btu/ (ft-h - °F)
1W/(m-k) = 1 1/1.163 2.388459x 1073 0.5777893
1kecal/(h-m:¢C) = 1.163 1 1/360 0.6719689
lcal/(cm-s-¢C) = 418.68 360 1 241.9088
1 Btu/ (ft-h-°F) = 1.730735 1.488164 4.133789x 1073 1
- o =
BLEH 314, pp,203~225.

3. MuENE(1991): “EALIEZ O #45 (BRELLR

1. 3=FF Y 3) H(1990): “KS A 0105(ZFA 44 (SHOE)", x> b - 32—, No. 531,

(SD) 3 2 A" pp,42—47.
2. Al A7 B(1990)  “M 47 AlRPY AP 4. AATETHE #W(1982): "+tHETHIH3
SINfEVE"

#2998 FGFA, A=, AN dAPARA A
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